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Section A: Multipie Choice Questions 156 marks]

1. The diagram below shows the fomale reproductive part of a flower soon after poliination.

Z

Which of the following shows the parts labelled X, Y and Z correctly?

X Y Fd
{1 ovary style pollen tube
{2 pollen tube ovary style
{3) ovary pollen tube style
(4 style ovary pollen tube
2, The diagram below shows the female reproductive system.

Which of the following is correct?

(1)
(2)
(3)
(4)

where eggs are produced | where baby develops
A B
A C
B A
B C
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3. The diagram below shows a plant with its paris labellad A, B, C 2nd D,

[ alg"‘i

s e
‘ B
C h
R
'4.‘ -

Which part(s) of the plant contain(s) the water-carmying tubes?

(1} Aonly (2) Donly
(3) B and C only 4 ABCandD
4. Four students made statements on the function of the human circulatory system below,

Lukas:  Transports only water and carbon dioxide all over the body.

Meiling: Transports oxygen in the blood from the heart ta the other parts of the body.

Nathan: Works with the digestive system to transport digested food to other parts of
the body.

Osman:  Works with the respiratory system to remova carbon dioxide and waste
materials from the body,

Which students had correctly described the functions of the human cireulatory system?

(1) tukas and Meiling only

(2) Meiling and Nathan only

{3) tukas, Nathan and Osman only
(4} Mailing, Nathan and Osman only
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5. The diagram below shows a typical plant cell taker from the leaf of a plant,

C
A
B - 0
E
Which parts of the leaf cell are aiso found in the human cheek cell?
{1} A and G only (2) A, B, and D only
(3} C, D and E only (€4 BC,DandE
B. How is the life cycle of a frog similar to a cockroach?

{1) Both lay eggs in water.

(2) - Both have three stages in their life cycles.

(3)  The young of both animals is called a nymph.
{(#)  The young of both animals resembles the aduit.

7. Three students made some statements about the life cycle of plants.
Pete:  Flowering plants reproduce by seeds.

Suzy:  The shoot appears first followed by the roots,
Cath: A seed can germinate when there is only sunlight and air.

Which student{s) wasiwere correct?

{1) Pete only (2) Cath only
{3} Pete and Suzy only (4) Suzy and Cath

Which are the two body systerns that Oxygen in the air will first pass through before it can be used
by the cells in our body? .

{1) Digestive and circulatory systems

{2) Respiratory and digestive systems
{3) Respiratory and circulatory systems
{4) Respiratory and reproductive systems
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10.

11.

Look at the following statements about the mouth and the small intestine below.
A The mouth and the small intestine absorb water.
B . The mouth and the small inlestine contain digestive juice.
C The mouth and the small intestine absorb digested food into the bloodstreamn
Which one of the following siatemeni{s) is/are correct?
{1) B only (2} c only
{3) A and B only (4 A and C only

The diagram below represents the water cycle.

X

Process Y

74
rain waler vapour

\ river

Which one of the following correctly shows the correct states of water at X and process Y in the

water cycle above?

State of water at X Process ¥
(1} fiquid evaporation
(2) _gas condensation
3y | liquid |____condensation

(4} gas avaporation

The table below shows substances A, B and C in different states at different temperatures,

Substance State of substance at
28°C N 55°C 800
A solid solid solid
B liquid liguid gas
C solld solid liquid

Which one of the following statements about substances A, B and C s correct?

(1)  The boiling point of B is at 50°C.

{2) Substance C has lowest meting point.

{3) Substance B has a lower boiling point than substancs A.
(4)  Substance A has a lower freezing point than substance C,
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12.  Adam took a beaker of water at room temperature and added four identica
3 minutes, he placed the beaker onto a hot plate and heated the beakar
minutes untll it boiled, as shown in the dlagram below,

lice cubes into it. Afier

beaker

ice cube

:7'—““““*“* " iced water

et . — 1 fq-'*—-—*hotplate

Which one of the followin

T~ hubble

g graphs below shows the changes in the temperature of water in the

beaker correctly?

{1 (2)

Temperatura of water (°C) Temperature of water (°C)
ir A
L O
Time (min)
(3) 4
Temperature of water (°C) Temperature of water (°C)
A 1}
1007 Cr g

L O

3

Sowias

Time (min Time (min)
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13.

14,

15,

Justin set up a terrarium as shown in the diagram below, He observed the ferrarium for one week.

covered lid
water droplets
plants

- soil

pebbles with water

Based on his observation, Justin made some statements.

A The water from the soil gains heat and evaporates to form water vapour,
B When the temperature in the terrarium increases, the rate of evaporation Increases.
L When the temperature outside the terrarium decreases, the rate of condensation in the

terrariumn decreases.
Which one of the following statement(s) is/are wrong?
(t) C only (2) A and B only
(3) B and C only (4) A, Band Conly

Sharif observed the water from four ponds located around his neighbourhood for a month.
He collected the data and recorded his findings in the table below.

Pond Quality of pond Presence of factory | Presence of oil
water discharging waste
intowaler
A clear na , no
B clear yes ng
c muddy no yes
D muddy ; yes yes

Which of the pond water are most likely polluted?

{1) A and C only {2} Band D only

{3) B, Cand Donly {4 A B CandD
Nigel's father had just received his uiility bill for the month of February. He realised thatthe amount
of water usage had increased over the month. A
Which one of the following would help Nigel and his family fo reduce the water bill?
(1)  Turn off the water heater when not in use.
(2}  Wash the clothes in the washing machine when it is half-loaded.

(3)  Use the water hose to wash the car instead of using a pail of water,
(4)  Turn off the water tap when applying scap to the body and take shorter showers,
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Jassie sst up 4 circuits, A, B, C and D, with identical bulbs and working batteries as shown below.

v s

Circuit A Circuit B

Circuit C Circuit D

Which of the fallowing circuit(s) would light up?

{1) B only
{2) . Donly
(3) AandBonly
{4y CandDonly
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17.  Bludy the circuit diagram below,

P
' .
Q bell B
— il e——"?"@“ﬁ ~ v @

B1

P s
B2
T
i+ "@_

Which of the switches, P, Q, R, S or T have to be closed to ring the bell and to light up bulb 82

only?
(1) Sand T
(2) Pand R

(3) QRandT
[Eh)] P.Qands
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18, Yi Xuan set up a cireuit as shown below usg
were made up of different materials A, B an

ing 2 new batteries and 4 w
dC.

B2

Which materials should be used so that only B3 and B4 would light up?

(1)
(2
(3)
(4)

orking bulbs. The objects

Material A Material B Material C
iron stes] copper
iron plastic rubber

wood plastic copper
wood steel fron

19, Michael set up an slectric circuit as shown in the diagram below,

i)

foll

copper rod

aluminium

&

— -

stee] clip

How many light bulbs would light up?

(1)
(2)
(3)
(4)

s

5

2
3
4
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20, Joash conducted some tests on a circuit and recorded his results in ihe table below.

Switch A Switch B Swilch C Mumber of hulhs
lighted up
closed closed open 2 '
closed open clossd 3
open closed closad 2

Which of the electrical circults will produce the results recorded In the table shown above?

M 1] J @ “‘““‘*M‘F';*@-
/A 8 g
r ® B
&— |
/. @ /X
c [
T e
A c ® /:
I 7 e
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21, Inwhich one of the circuits will bulb B1 be the brightest?

B4 _ B1
(1) — s Q i) (2) i ® |
B2 ® B2

B3
- &9~
B3
3) B3

[ (4) @

B || PR
81
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22. The diagrams below show 4 electric circuits, W, X, ¥ and Z.

&

Clrouit W Clecuit X

O [ —— ® ) T

Circuit Y

Clecuit Z

In which of the circuits would the remaining three bulbs continue to light up if bulb B fuses?

(1) XandV
{2y XandZ
{3y Wandy

{4) W, YandZ
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23.

24,

25.

The picture below shows an exposed wire.

exposed

Which of the following statements are correct?

A Touching the exposed wire with wet hands is dangerous.
B An elactrical conductor is used to wrap around the exposed wires,
C An exposed wire is unsafe and may cause an electric shock when used.

{1 A only {23 A and B only
{(3) B and C only 4 A and C only

Which of the following is not a matter?

{1} Cloud {2} Oxygen
{3) Sunlight (4) Steam

Qi Xin cut off the base of a plastic bottle. She then tied a balloon to the mouth of the plastic
bottle, When she pushed the bottle into a container of water, the water entered the bottle and

the balloon became inflated as shown in the diagram below.

balloon

plastic

bottle
LE;E-:-E;E e , —_— ;

What does the experiment above show?

(1)  Water can be compressed by air.

{2}  Both air and water occupy space.

{3}  Both air and water have a definite mass.
(4)  Both air and water have a definite volume.
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27.

28.

Mrs. Lim has three idenlical containers with the capacity of 500 cm?, She wanted fo use the
containers to slore substances A, 8 and C. The table below identifies the substances A, B and
C and their volumes.

Substance Yolume {cm?)
A OXygen 800
B salt 800
C honey 600

Which of the substance(s) can be fully stored in the contairer with a tightly covered lid, without
the substance(s) overflowing?

{1) Aand B only {(2) A and C anly
{3) Band C only 4 A BandC
Study the diagrams below.

25

Based on the diagram, what could be the mass of block C?

(1) &g
2y 10g
(3y  15g
(4) 209

The container below has a capacity of 5000 cm® It is filled with 1000 om? of water at first.

— cortainer

beaker with
e . |
500 emiof T — 7 ] U
water collected mmebmaad

The tap of the container is turned on and 500 cm®of water is collected in the beaker.
What Is the voluma of the air in the container?

(1) 500 cm?
(2) 1000 cm?
(3) 4000 cm®
4y 4500 cm? ,
~ END OF BOOKLET A~
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Section B: Open-Ended Questions [44 marks]

29.  Kaixin drew a chart of the human body system as shown below.

Arms w

Lungs

Small intestine

{(a) Which organ in the human body system does Organ P represent?
ldentify the system that organ P is part of. f1]

(b)  Which arrow(s), W, X, Yor z contain(s) the most amount of oxygen in the blood? [1)

Nadla carried out an experiment to measure the heart rate during two differe
jogging and reading, for a few minutes, as shown in the graph below.
A

nt activities,

Heart rate

I |
Jogging Reading

(c) Based on the graph above, explain why Nadia's
jogging, as compared to when she is reading.

— Time (min)

heart beats faster when she is

2]
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30.  The diagram below shows the human respiratory system and 2 Isaf,

tiny opening

Human raspiratory system Leaf
(a)  State one similarily in the functions of the lungs and the tiny openings. 1
(b} Name all the main parts of the human respiratory system. (1]

Samuel coated three leaves, J, K and L of a plant with layers of il on different parts of the
surfaces as shown in the table balow.

Leaf Coated with oil
Upper surface of leaf Lower surface of leaf
o ne yes
K no ne
L , yes Yoy

He watered the plant daily and observed the leaves for one week. On the 4% day, he observed
that leaves L and J had withered and died. ,

(c) Based on the information above, explain why leaves L and J had withered and disd, 2
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31. Qi Jun wanted to find out how the tength of the wing-like structure of a fruit affects the time

taken by each fruit fo reach the ground, He used 3 similar fruits of different lengths of wing-
like structurs as shown in the diagram below.

He released each fruit from a height of 1m and
the ground, as shown in the table below,

wing-like structure

7 ¢m long

5 cm long

3 em long

recorded the time taken by each fruit to reach

Time taken (seconds)
Length of wing-like 15 try 2™ try 3 try Average
structure {cm)
7 30 28 29 28
5 10 11 9 10
3 4 2 3 3
{a) Based on the results of Qi Jun's experiment,

(b)

(i) State the relationship between the length of the wing-
and the time taken for the fruit to reach the ground.

ike structure of the fruit

[]

(ii) Explain how the wing-like structure helps in the dispersal of the fruit. [1]

Why did Qi Jun release all the 3 fruits from the same height?
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Continue from previous page

Qi Jun went into the forest and found 2 fruits, A and B. Hs observed the dispersal pattern of
the seeds as shown in the diagram below.

Key: O
Seadlings of fruit A '

Seadlings of fruit B O

{c)  Based on the diagram, which seedling will grow less healthily?

Explain your answer.

{2
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32.  Study the flow chart below,

Animals

Doesithave a

| - Does it lay sggs ;
4-stagred lifs ; rmosquito
cycle? in water?
Doss the young
resemble its c
adult?
Doss it spend
most of its life D
cycle in water?
(a) Based on the flowchart above, state one similabrity and one difference between animals
Cand D, [2]
{ Similarity:
(if) Difference:
(b)  Based on the flow chart above, state an example of animal B. [1]
Mosquito larva and pupa are commonly found just beneath the water surface,
{c) " How does spraying a layer of oil onfo the water surface kill them? [1}




33.  Wei Ling conducted an experiment as shown in the diagram below. Sha placed set-up G and
set-up H inside two identical cupboards. She observed the growth of the seeds after 5 days.

—11 [ T
green green
bean o ' bean i
seed ey & seed e 5.
wet 501 k' Q . dry soil % XN
Setup G Set-up H
{a})  Based on the diagram above, what was the aim of Wei Ling's experiment? {1
(b}  State two variables which must be kept constant in this experiment, [1]
(i)
(ii}
{c}  Draw the 3-staged life cycle of a bean plant. [1]
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34, The diagram below shows 3 skelston.

(a) Slate the system that works with the skeletal system to enable us to move. M

(b)  State another function of the skeletal system. [1]
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35.

Mrs. Lim wanted to find out how the size of the bread affect the rate of digestion in our body.
She cut 3 similar pleces of bread E, F and G, as shown in the diagram balow.

o P,

Bread E Bread F Bread G

She then added the same amount of digestive juice to each bread. She waited for 5 hours
before she weighed the bread again,

The graphs below show the changes in the mass of bread at the start and at the end of 5
hours.

Key:

Mass of bread {g)
&
Massof J.._
bread

at the
beginning
of the
experiment

Befora

D After

g

Bread G

{a) State the changed variable of the experiment. [1]

(b)  Describe and explain how the size of the bread affects its rate of digestion. [2]

Page 8 of 15




36.  Atthe DEF market, the meat sellers will display the meat in a meat chiller as shown in the
diagram below,

glass display of the
meat chiller
door

The temperature inside the meat chiller is at 4°C. The temperature outside the meat chiller is
at 30°C. As the time passes, water droplets are seen forming on the front glass dispilay.

(a}(i) Draw the water droplets on the correct side of the glass display in the diagram below.

[1]
/ glass display

door 1|

inside of the meat chiller outside the meat chiller

(i) Explain how the water droplets are formed. [2]

The door of the meat chiller was accidentally left open for 20 minutes. Less water droplets
are observed on the glass display. ‘

(b)  Give areason why this happened. , ' ' [
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Continue from previous page

At the end of the day, the meat seller washes the trays which are used to display the meat.
He then places them on the rack or stacks them as shown below.

rays
. g
N o
N vl
N £
S £
N 7
£ }
Method A Method B

{c) Based on the diagram above, which method, A or B, should the meat seller use to dry
the trays faster? Explain your answer. [1]
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37.

Qi Ying pfaced a lump of playdough gently puf into a beaker containing 200 cm?of water
until it is fully submerged. The water level rose as shown In the diagram below.

om?® ) (
400 —

300 —

Tl . Vs bttt T S, et e

et )
3 . ot v it v —— Vo, W
L

i i - T—— oo, iy o St 55 oy

(@)  Whatis the volume of the playdough? 1

The same lump of playdough is then removed from the beaker and rolled into a ball. Itis
then put back into the same beaker that contained the same 200 om? of water,

(b} Whatwill happen to the water level as compared o the water levet shown in the
above diagram? Explain your answer. 12]

A metal cube with a volume of 150 cm® is put into the beaker containing 200 cm® of water,
together with the same lump of playdough, as shown below.

{c) Draw the new water level in the diagram below. [1]

—  metal cube

playdough
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38. Lucas set up an electrical circuit with 2 working batteries, 3 working bulbs, P, Qand R
and 4 switches, 81, 82, 83 and 54, as shown below.

$1 \
J‘
84
(@)  Which switch(es) must be closed in order for only bulb R to light up? [1]

(b)Y When only 81 is opened, Lucas noticed that all the bulbs did not fight up. Explain why.
1
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39.  Julie had three rods, W, X and Y, made of different materials. She placed the rods at differant
positions in the circult as shown below,

Bt

&

BS

-
|

&

B2

B4

@il

Bulb B2,B3,B4,B5 was lighted up.

(a)  Whatcan Julie conclude about the property of material Y based on the diagram above?
4l

All the batteries and bulbs are in warking condition.

() Explain why only B1 did not light up. [2]
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40.

Li Pin setl up a circuit with three different coloured bulbs as shown below.

® green
red -

yallow
&

(@)  Mark with an "X’ in the circuit above where the switch should be placed so that all the
bulbs can be turned on and off togethsr at the same time. Il

(b)  What would Li Pin observe about the other 2 bulbs if the red coloured bulb fuses?
Explain Li Pin's observations. 2]

Li Pinwants to rearrange the circuit such that the bulbs wiil only light up one at a time.

(c) Complete the circuit diagram below by drawing the following: 12]
e 3 switches
o 3 coloured light bulbs
e 2 halteries

~END OF BOOKLETB ~
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Suggested Answer Key - P5 EYE 2022

Qn | Aas | On | Ans | Qn | Ans Qn Ans Qn Ans Qn Ans
K 1 6 2 1 3 16 1 21 3 26 2
2 a 7 1 12 b 17 3 22 3 27 &
3 4 ] & | 3 13 1 18 4 23 4 28 a
4 4 9 1 14 3 19 4 24 3
5 3 10 3 15 4 20 4 25 2
Qns No Answer 7
29 | a | OrganP: Heart.
Circulatory System
b |y
€ | The heart pumped blood faster to transport more onygen and digested food to all
parts of the body and remove more carbon dioxide and waste materials away fram
the body,
30 | a | Both allow gases to enter and leave the parts,
b | Nose, windpipe and lungs
Data: Oil covered the tiny openings on the lower and upper surfaces of the leaf
Explanation: There will be no gaseous exchange with the surroundings
31 ai | As the length of the wing-like structure increases {cause), the time taken for the fruit
to reach the ground increases {effect).
gl | The wings allow the fruit to float in the air longer and so it can be carried over the
greater distance.
b | To ensure that there is only one changed variable which |s the length of the wing,
Choice: Fruit 8. ‘
Data: The seedlings are close together.
Explain: Due to overcrowding, the seedlings of fruit 8 will have to tompete with
|| others for water, sunlight, mineral salts and (space)
32 | ai | Both have 3-staged life cycle.
@il | The young of C resembles its adult but the young of D does not resemble its adult.
b | Butterfly/ mealworm beetle/moth
¢ | The oil will block the breathing tube so there is a lack of air/oxygen.
33| a | Tofind out how water affects the germination of seeds,
‘ bi | The temperature of surroundings /The number/type of beans in each set-up/The
bii type/amount of soil added in each set-up .
¢ / Sead \
Adult{beaniplant e Young plantizesdiing
34 | a | Muscular system
b | To protect our {internal) argans/give body its shape
35 | a | The size/ exposed surface area of the bread
b | Data: Cutting breaks the bread down into smaller pieces/simpler substances,
Explain: The bread will be more exposed surface area in contact with the digestive
juices.
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36 al
ail | The temperature cutside the meat chiller is higher than the temperature inside. The
warmer water vapour from the surroundings lost heat to the cold surface of the glass
display and condensed into water droplets on the outside of the meat chiller.
b | The temperature difference between the temperature inside and outside the meat
chiller decreased, thus the rate of condensation decreased,
¢ | Choice: Method A
Data: water will drip downwards or sideways on the trays./ more exposed surface
area
Explain: Less water left on the trays will be evaporated.
37| a |s0em® }} B
b | Choice: The water level will remain at the same level,
Data: Only the shape has changed but the volume remained the same.
Explain: The playdough has a definite volume/ will oecupy the same amount of space,
¢ - 4
fopm—————
i )
=
38| a |s1,53ands4 -
' b | Thereisan open circuit, so the electric current cannot flow through the circuit.
39| a | Electrical conductor :
b | Xis an electrical in sulator, 5o no electric current flow through the path/wire to light
up bulb B1, ;
40| a J— Mark X anywhere along the bold wire.
®-
&
b | The yellow and green bulbs remained Iit. Electric current could still flow through the
| amber and green bulbs in the circuit/the circuit was still in a closed circuit with the
batteries.
- € H ;,
L Correct arrangement of all bulbs - paralle
G Correct paositions of all switches
Correct circuit symbols of all electrical componeants
e Correct number of batteries, bulbs and switches
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